Problem 8FE-1

In the network in Figure 8PFE-1 find the impedance seen by the source.
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Suggested Solution


[image: image2.wmf]24 cos(2t + 0

°

)V

5

W

4

W

100mF

j2

·

·

j2

j8

Since M = k(L

1

L

2

)

1/2

=(0.5)(2) = 1H

V

1

 = (4 + j2)I

1

 - J2I

2



0 = -j2I

1

 + (5 + j3)I

2



I

2

 = (j2I

1

)/(5 + j3)

V

1

 = (4 + j2)I

1

 - j2(j2) / (5 + j3) I

1

= [4 + j2 + 4/(5 + j3)]



Zs = V

1

/I

1

 = (18 + j22)/(5 + j3)

Zs = 4.88

Ð

19

°



W


_1052426432.bin

_1052426840.bin

